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Q.1 Indicate () on the correct answer : 
1. He believed that public expenditure increases in a step - like 
 fasion. 
 (a) Musgrave    (b) Wiseman - Peacock 
 (c) Dalton     (d) Wagner 

(10) 

 2. This type of debt does not bring real burden. 
       (a) Revenue debt                 (b)   External debt 
 (c) Foreign debt    (d) Internal debt 

 

 3. He is the chairman of the Thirteenth Finance Commission. 
 (a) Mahaveer Tyagi   (b) C. Rangarajan 
 (c) K.C.Pant     (d) Vijay Kelkar 

 

 4. The revenue from this tax is not shared with states. 
 (a) Customs Duty   (b) Excise Duty 
 (c) Sales Tax    (d) Income Tax 

 

 5. Service tax was levied in India from this year. 
 (a) 1990-91     (b) 1994-95 
 (c) 1991-92     (d) 1993-94 

 

 6. The 73
rd

 and 74
th

 amendments of the constitution are important 
 because 
 (a) local governments got constitution status 
 (b) state governments got financial autonomy 
 (c) Value Added Tax was introduced 
 (d) gold imports were prohibited 

 

 7. The Central transfers resources to the status through : 
 (a) The Finance Commission (b)   The Planning Commission 
 (c) Neither a nor b   (d) Both a and b 

 

 8. The Central Government does not levy agricultural income tax 
 because 
 (a) to protect marginal farmers 
 (b) to encourage cash crop cultivation 
 (c) the constitution does not permit it 
 (d) the states are opposed to it  

 

 9. If we subtract interest payments from fiscal deficit, we get 
 (a) primary deficit    (b)   revenue deficit 
 (c) capital account deficit  (d) budget deficit 

 

 10. Resources from the centre to the status are devolved on the 
 basis of   
 (a) Mahalnobis formula  (b) Neelkanth and Rath rule 
 (c) Gadgil formula   (d) Kelkar formula 
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Q.2
(A) 

Write a detailed note on social cost-benefit analysis.  What are its 
limitations ? 

(15) 

 OR  

Q.2
(B) 

Write a note on the various types of public expenditure incurred by 
the Government of India. 

(15) 

   
   

Q.3
(A) 

Explain types of public debt. Explain the impact of public debt on 
the public, future generations, private enterprises and the 
government. 

(15) 

 OR  

Q.3
(B) 

What is deficit financing and why is it needed ?  Explain the effects 
of deficit financing. 

(15) 

   
   

Q.4
(A) 

Explain the system of resource-transfer through  Finance 
Commission and Planning Commission. Which is better ? Why ? 

(15) 

 OR  

Q.4
(B) 

Discuss the problems faced by local governments in view of their 
sources of revenue and responsibilities.  

(15) 

   
   

Q.5
(A) 

What is Voluntary Disclosure of Income Scheme (VDIS) ?  Discuss 
its merits and demerits.  

(15) 

 OR  

Q.5
(B) 

What is Value Added Tax (VAT) ?  What are its advantages ?  
Discuss the methods of calculating VAT. 

(15) 
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NyS>fpsu sfS|>dp¡ 
Ly$g NyZ : 70 

k|Q_p :  S>dZu bpSy>_p v$ip®h¡g Ap„L$X$p NyZ k|Qh¡ R>¡. 
 

â.1 kpQp„ S>hpb kpd¡ () Sr_ip_u L$fp¡.  (10) 
 (1) s¡Ap¡ dp_sp„ lsp„ L¡$ Ål¡f MQ® `Nr\ep„hpf h^¡ R>¡. 

 (A) dkN°¡h    (b) hpBkd¡_-`uL$p¡L$ 
 (L$) X$pëV$_    (X$) hpÁ_f  

 

 (f) Ap âL$pf_y„ v¡$hy„ hpõsrhL$ bp¡Å¡ gphsy„ _\u. 
 (A) Qpgy v¡$hy„    (b) bpù v¡$hy„ 
 (L$) rhv$¡iu v¡$hy„    (X$) Ap„sqfL$ v¡$hy„ 

 

 (3) s¡Ap¡ s¡fdp„ _pZp„`„Q_p AÂen R>¡. 
 (A) dlphuf ÐepNu   (b) ku. f„NfpS>_ 
 (L$) L¡$.ku.`„s    (X$) rhS>e L¡$gL$f 

 

 (4) Ap L$f_u AphL$ fpS>ep¡ kp\¡ hl¢Qhpdp„ Aphsu _\u. 
 (A) L$õV$L$ X$eyV$u   (b) DÐ`pv$_ L$f 
 (L$) h¡QpZ h¡fp¡    (X$) AphL$ h¡fp¡ 

 

 (`) cpfsdp„ k¡hp L$f Ap hj®\u gpNy L$fhpdp„ Apìep¡. 
 (A) 1990-91   (b) 1994-9` 
 (L$) 1991-9f    (X$) 1993-94 

 

 (6) k„rh^p__y„ 73dy„ A_¡ 74dy„ k„ip¡^_ dlÐh_y„ R>¡ L$pfZL¡$ 
 (A) õ\pr_L$ kfL$pfp¡_¡ k„h¥Ûpr_L$ v$fS>Å¡ dþep¡ 
 (b) fpS>e kfL$pfp¡_¡ _pZp„L$ue õhpesÑp dmu 
 (L$) d|ëe hr^®s L$f v$pMg L$fhpdp„ Apìep¡ 
 (X$) kyhZ® Apeps `f ârsb„^ dyL$hpdp„ Apìep¡ 

 

 (7) L¡$ÞÖ, fpS>ep¡_¡ k„kp^_p¡_y„ lõsp„sfZ Ap dpÂed\u Lf¡ R>¡ 
 (A) _pZp„ `„Q    (b) Apep¡S>_ „̀Q 
 (L$) A A_¡ b dp„\u L$p¡B _l] (X$) A A_¡ b b„_¡ 

 

 (8) L¡$ÞÖ kfL$pf L©$rj AphL$h¡fp¡ gNpX$su _\u L$pfZL¡$ 
 (A) kudp„s M¡X|$sp¡_y„ fnZ L$fhp dpV¡$ 
 (b) fp¡L$qX$ep `pL$p¡_u M¡su_¡ âp¡Ðkpl_ Ap`hp 
 (L$) k„rh^p_ s¡_u `fhp_Nu Ap`sy„ _\u 
 (X$) fpS>ep¡ s¡_p¡ rhfp¡^ L$f¡ R>¡ 

 

 (9) fpS>L$p¡jue MpÛdp„\u v¡$hp„_u QyL$hZu bpv$ L$fuA¡, sp¡ Ap dm¡ R>¡. 
 (A) âp\rdL$ MpÛ   (b) Qpgy MpÛ 
 (L$) d|X$u Mpsp_u MpÛ  (X$) bS>¡V$ MpÛ 

 

 (10)L¡$ÞÖdp„\u fpS>ep¡_¡ k„kp^_p¡_y„ lõsp„sfZ Ap ap¡dy®gp l¡W$m L$fhpdp„ Aph¡ R>¡. 
 (A) dlpg_p¡rbk ap¡dy®gp  (b) _ugL„$W$ A_¡ f\_p¡ r_ed 
 (L$) NpX$Nug ap¡dy®gp   (X$) L¡$gL$f ap¡dy®gp 
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â.f 
(A) 

kpdpÆL$ MQ® - gpc rhïg¡jZ rhi¡ rhõs©s _p¢^ gMp¡.  s¡_u dep®v$pAp¡ L$B R>¡ ? (1`) 

 A\hp  
â.f 
(b) 

cpfs kfL$pf Üpfp L$fhpdp„ Aphsp„ Ål¡f MQ®_p„ rhrh^ `°L$pfp¡ rhi¡ _p¢^ gMp¡.  (1`) 

 
 

  

â.3 
(A) 

Ål¡f v¡$hp„_p„ `°L$pfp¡ kdÅhp¡.  Ål¡f v¡$hp„_u kpdpÞe `°Å, crhóe_u `¡Y$uAp¡, 
Mp_Nu ¡̀Y$uAp¡ s¡dS> kfL$pf D`f Akfp¡ kdÅhp¡.  

(1`) 

 A\hp  
â.3 
(b) 

MpÛ |̀fhZu A¡V$g¡ iy„ ? s¡ ip dpV¡$ S>ê$fu R>¡ ?  MpÛ `|fhZu_u Akfp¡ kdÅhp¡. (1`) 

 
 

  

â.4 
(A) 

_pZp„ `„Q s¡dS> Apep¡S>_ „̀Q Üpfp k„kp^_ lõsp„sfZ_u ìehõ\p kdÅhp¡.  
b„_¡dp„\u L$B h^y ep¡Áe R>¡ ?  ip dpV¡$ ? 

(1`) 

 A\hp  
â.4 
(b) 

õ\pr_L$ kfL$pfp¡_p„ AphL$_p„ kp^_p¡ A_¡ s¡d_u S>hpbv$pfuAp¡_p„ k„v$c®dp„ s¡d_u 
kdõepAp¡_u QQp® L$fp¡. 

(1`) 

 
 

  

â.` 
(A) 

õh¥[ÃR>L$ AphL$ Ål¡fps ep¡S>_p (VDIS) iy„ R>¡ ? s¡_p„ gpcpgpc_u QQp® L$fp¡. (1`) 

 A\hp  
â.` 
(b) 

d|ëe hr^®s L$f (VAT) A¡V$g¡ iy„  ? s¡_p„\u iy„ gpc R>¡ ?  d|ëe hr^®s L$f_u 
NZsfu L$fhp_u `ÙrsAp¡_u QQp® L$fp¡. 

(1`) 

   
   

#########  


